

JAN 1 7 2002

#### Kansas Corporation Commission OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

#### CONSERVATION DIVISION WELL HISTORY - DESCRIPTION OF WELL & LEASE **WELL COMPLETION FORM**

ORIGINIAL

Operator: License # 31881	API No. 15 - 097-21479-0000				
Name: McGinness Oil Company of Kansas, Inc.	County: Kiowa				
Address: 150 N. Main, Suite 1026	150'E & \$ED'SSW Sec. 6 Twp. 28 S. R. 17 East West				
City/State/Zip: Wichita, KS 67202	560 feet from S / (circle one) Line of Section				
Purchaser: OneOK	3150 feet from E / W (circle one) Line of Section				
Operator Contact Person: Douglas H. McGinness	Footages Calculated from Nearest Outside Section Corner:				
Phone: ( <u>316</u> ) <u>267-6065</u>					
Contractor: Name: Pickrell Drilling	1				
License: 5123	Field Name:				
Wellsite Geologist: Douglas H. McGinness	Producing Formation: Mississippi				
Designate Type of Completion:	Elevation: Ground: 2180 Kelly Bushing: 2185				
New Well Re-Entry Workover	Total Depth: 4850 Plug Back Total Depth: 4829				
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 420 Feet				
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?				
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet				
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from				
Operator:					
Well Name:	feet depth to w/sx cmt.				
Original Comp. DateOriginal Total Depth:	Drilling Fluid Management Plan  (Data must be collected from the Reserve Pit)				
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volume 1200 bbls				
Plug BackPlug Back Total Depth	Dewatering method used Hauled off				
Commingled Docket No	_				
Dual Completion	Location of fluid disposal if hauled offsite:				
Other (SWD or Enhr.?) Docket No	Operator Name: Advantage Resources				
11/6/2001 11/18/2001 12/12/2004	Lease Name: Hardy License No.: 6927				
11/6/2001         11/18/2001         12/13/2001           Spud Date or Recompletion Date         Date Reached TD         Completion Date or Recompletion Date	Quarter Sec. <u>24</u> Twp. <u>28</u> S. R. <u>18</u>				
	County: No.: Docker No.: D 27,101				
Kansas 67202, within 120 days of the spud date, recompletion, work Information of side two of this form will be held confidential for a period 107 for confidentiality in excess of 12 months). One copy of all wireline to TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged with the confidence of the confidence	with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, kover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. of 12 months if requested in writing and submitted with the form (see rule 82-3-ogs and geologist well report shall be attached with this form. ALL CEMENTING ells. Submit CP-111 form with all temporarily abandoned wells.				
Signature:	KCC Office Use ONLY				
Title: / restdent Date: ///5/0	Letter of Confidentiality Attached				
Subscribed and sworn to before me this 15 day of 12 and 100	If Denied, Yes Date:				
No 2002.	Wireline Log Received				
Notary Public: I May May Mullary	Geologist Report Received  UIC Distribution				
Date Commission Expires: 2/7/04					
DONNA L. M Notary Public My Appt, Expires	MAY-MURRAY - State of Kansas				

### ORIGINAL

Operator Name: Mc	Ginness Oil Con	npany of	f Kansas, Inc	Lease	e Name:	Keller		. Well #: <u>A-2</u>	)	
Sec6 Twp	<u>28</u> s. R. <u>17</u>	. Eas	st 🗹 West	Count	y: Kiow	/a				
INSTRUCTIONS: S tested, time tool ope temperature, fluid re Electric Wireline Log	n and closed, flowin covery, and flow rate	g and shu s if gas to	it-in pressures, i o surface test, a	whether s long with	hut-in pre	essure reached :	static level, hydros	static pressure	es, bottoi	m hole
Drill Stem Tests Take		₽\	∕es ∏No		₽L	og Formatio	on (Top), Depth ar	nd Datum		Sample
Samples Sent to Ge	ological Survey		res 🗹 No		Name			Тор	[	Datum
Cores Taken			∕es ☑ No		Chase			2405	-	220
Electric Log Run (Submit Copy)			∕es ∏No		Heel	bner		4003		1818
List All E. Logs Run:					Lans	sing		4182	-	1997
Dual Induction,	Sonic, Dual Com	pensate	d Porosity		Che	rokee		4693	-;	2508
			·		Miss	3		4732	-3	2547
		Repo	CASING I		✓ Ne	ew Used ermediate, product	ion etc	National and a second s	·	·
Purpose of String	Size Hole Drilled	Si	ze Casing et (In O.D.)	T	ight	Setting Depth	Type of Cement	# Sacks Used		and Percent
Surface	12 1/4"	8 5/8"	( 5.2.)	24		420	Lite 3% CC w			uditives
							followed by C	la 99 A 2%	gel, 3%	CC
Production	778"	4 1/2"		10.5		4849	ASCw/5%flos	edall <i>t</i> sx		
-			ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD		· · · · · · · · · · · · · · · · · · ·		
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	e of Cement	#Sacks	s Used		Type and Pe	rcent Additives		
Shots Per Foot	PERFORATI Specify	ON RECOF	RD - Bridge Plugs Each Interval Perf	orated		Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				Depth
2	4742-4772	KANSA	S CORPORATI		MISSION	1200 gal 7 1	/2% MCA, 41,4	124 gal gel	w/	
						63,160# 12-20 Brady & 4,000 # 12-20 Super				
	JAN 1 7 2002					LC (				40.4
		- CON	CED 44710							
		CON	SERVATIO	N DIVI	SION					
TUBING RECORD	Size 5/8"	Set At <b>4811</b>	APPE AS THERE IS NO	Packer-A	14	Liner Run	Yes 🔽 No		I	
	Production, SWD or Er		Producing Metho	od	l	<u>L</u>	1.03 NO		<del> </del>	
01/16/2002				<del></del>	Flowing	Pumpin	g Gas Lift	Othe	r (Explain)	
Estimated Production Per 24 Hours	3	Bbls.	Gas N	Mcf	Wate	r Bb	ls. Ga	s-Oil Ratio	-	Gravity 46
Disposition of Gas	METHOD OF C	OMPLETIC				Production Interv		D I		70
Vented Sold (If vented, Su	Used on Lease mit ACO-18.)		Open Hole Other (Specify	Perf.	. D	ually Comp. [	Commingled			

#### 'ALLIED' CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 4

#### RECEIVED

"ANSAS CORPORATION COMMISSION

#### SAN 1 7 2002

ORIGINAL

Invoice Number: 086031

Invoice Date: 11/28/01

INVOICE

#### CONSERVATION DIVISION

Sold To:

McGinness Oil Co. 150 N. Main, #1026

Wichita, KS

67202

Cust I.D...: McGin
P.O. Number.: Keller A-2
P.O. Date...: 11/28/01

Due Date.: 12/28/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	unio.	2:ioe	Net TX
Common	9.00	SKS	6.6500	59.85 E
Pozmix	6.00	SKS	3.5500	59.85 E 21.30 E 10.00 E 1487.50 E 437.50 E 375.00 E 183.20 E 264.00 E
Gel	1.00	SKS	10.0000	10.00 E
ASC	175.00	SKS	8.5000	1487.50 E
KolSeal	875.00	LBS	0.5000	437.50 E
Mud Clean	500.00	GAL	0.7500	375.00 E
ClaPro	8.00	GAL	22.9000	183.20 E
Handling	240.00	SKS	1.1000	264.00 E
Mileage (25)	25.00	MILE	9.6000	240.00 E
240 sks @\$.04 pe	er sk per mi			
Production Casing	1.00	JOB	1264.0000	1264.00 E
Mileage pmp trk	25.00	MILE	3.0000	1264.00 E 75.00 E 48.00 E 125.00 E 210.00 E 225.00 E
Rubber plug	1.00	EACH	48.0000	48.00 E
Guide Shoe	1.00	EACH	125.0000	125.00 E
AFU Insert	1.00	EACH	210.0000	210.00 E
Centralizers	5.00	EACH	45.0000	225.00 E
Date of Invoice. 1 If Account CURRENT	., Payable 30 Days I 1/2% Charged There take Discount of S	eafter. Tax	total: : ments:	5025.35 0.00 0.00
ONLY IT paid Withi	n 30 days from Invo	oice Date Tota	al:	5025.35

# ALLIED CEMENTING CO., INC. 08880 Federal Tax I.D.

TO P.O. E. RUSS		ANSAS 676	65	637999	SERV	MED.LC	xdae
11000		11 151 15 07 0		ORI	GINAL	118 D. KC	xage
DATE //:/7:0\	SEC.	TWP.	RANGE 17W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE Keller	WELL#	4-2	LOCATION Bren	non Flolat	m-3/4/11 2 N	COUNTY	STATE
OLD OR NEW (Ci	<del></del>		Location Estell			MOWA	110
OLD OIQIVE III (CI	Tele one,			ZE YN		_	
CONTRACTOR 7	Dickre	of the	Ja.C.	OWNER M	Ginness C	III Co.	
TYPE OF JOB	rod.	.so.	-1:00				
HOLE SIZE 7	7/8	T.D	. 4850	CEMENT			
CASING SIZE 4	1/2	DE	PTH 4854, 86	_ AMOUNT OF	RDERED 1753	x ASC +5	"Kol-seal
TUBING SIZE		DE.	PTH		15 sx		
DRILL PIPE		DE	PTH				
TOOL		DE	PTH	_	_	•	- 0
<del></del>	50		NIMUM /OO	_ COMMON	9	_@ <i>_b.65</i> _	59.85
MEAS. LINE		<del></del>	<u>0e joint <i>44.</i>33</u>		<u> </u>	_@ <i>3.55</i> _	21.30
CEMENT LEFT IN	VCSG.	44.33		_ GEL		_@ <i>10.00</i> _	10.00
PERFS.	~ <del>~~~</del>	2/.		_ CHLORIDE _	100	@	
DISPLACEMENT		1774		ASC	175	_@ <i>B.50</i> _	1487.50
	EQ	UIPMENT	ı	KOL-SEA		_@ <u>. So</u> _	437.50
				FRUD CLES	ON 500 BALL		375.00
PUMP TRUCK	CEMEN	TER 5ha	, W an		C/C I		100 2
~ ^ .	HELPE	-	1	- Clapro	8 Gals.	_@ <u>22.90</u>	183.20
BULK TRUCK				<ul> <li>HANDLING MILEAGE</li> </ul>		_@ <u>/./o</u>	264.00
# 364	DRIVER	Eric Eric	, H	MILEAGE	de lo x 23	.04	240.00
BULK TRUCK				_	·		3078.3
#	DRIVER	<u> </u>		_		TOTAL	3010.2
	R	EMARKS:			SERVI	CE	
on location	Rio	100 - Ge	+2iDe on botton	<b>^</b>			
break CIRC	- Pil	1011	ol MUD Flush	DEPTH OF J	OB 4854		
J 5661 H20.			Rathole 15.5x	PUMP TRUC			1264.00
60:40:b-Pun	10 17	55x 45	C-Wash Dums	EXTRA FOO		@	1007.00
+ lines - Rel	ase i	The Sta	r+ D'ssl. 639	M MILEAGE	25	@ 3.00	75.60
100 PSI-45	Abl a	ut see li	# PST 100-25	PLUG RUE		@ 18 00	48.m
773/4 out 16	and P	Va Rela	ase PSI Floa	T	KECEWED	@	
Didnot hold			Lup-Release	KANSAS (	CORPORATION COMM	IS@ON	
Still DIGIVA W	old Pr	essure b	ackup-5 hutin				
				ī	JAN 1 7 2002	TOTAL	1387.00
CHARGE TO: MC	Ginne	255 OI	1 Co. of Ks		• • • • • • • • • • • • • • • • • • • •	101111	-
	·	_		CONS	ERV <b>ATION</b> LOIVIS	IN	
STREET /SO A					-···FLOATEQU	IPMENT	
CITY WICH I	M S	TATE KAN	SAS ZIP67203	<u>4/2</u>	-		
				1- Keg. G	uide Shoe	@ <u>125.00</u>	125.00
				1-4F'U	Insert_	@ 210.60	210.00
				5-Cent		_@ <u>45.00</u>	225.00
						_ @	
To Allied Cemen	ting Co.	, Inc.		**************************************		_ @	-
You are hereby re	equested	to rent cen	nențing equipment	•			
and furnish ceme					,	TOTAL	560.00
			he above work was				
done to satisfaction	on and s	upervision	of owner agent or	TAX	1 1 1 1 1 1 m	,	
			d the "TERMS AND	)			
CONDITIONS"				TOTAL CHAI	RGE COM		
10 11	10	0 #		DISCOUNT -	5025	IE DAT	D IN 30 DAYS
M LAN	U	$\mathcal{L}$	den -		4277	B/	ארו ארו איז א DAI 9
CICMINE				217	Cuado		
	··········	*** · · · · · · · · · · · · · · · · · ·		- *	****	75.37457-	
	_				PRINT	ED NAME	

#### ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID

#### RECEIVED

KANSAS CORPORATION COMMISSION

FIANT 1 7 2002

Invoice Number: 085858

Invoice Date: 11/12/01

INVOICE

#### CONSERVATION UNIDION

McGinness Oil Co. Sold 150 N. Main, #1026 To:

Wichita, KS

Cust I.D.....: McGin P.O. Number .: Keller A-2

P.O. Date...: 11/12/01

Due Date.: 12/12/01 Terms....: Net 30

Item I.D./Desc.	Oty. Used	Unit.	Price	Net	TX
Common	100.00	SKS	6.6500	665.00	E
Gel	2.00	SKS	10.0000	20.00	
Chloride	8.00	SKS	30.0000	240.00	EEEE
ALW	125.00	SKS	6.3000	787.50	E
FloSeal	31.00	LBS	1.4000	43.40	E
Handling	241.00	SKS	1.1000	265.10	E
Mileage (25)	25.00	MILE	9.6400	241.00	E
241 sks @\$.04 ]	per sk per mi				
Surface	1.00	JOB	520.0000	520.00	E
Extra Footage	120.00	PER	0.5000	60.00	E
Mileage pmp trk	25.00	MILE	3.0000	75.00	EEE
Wooden plug	1.00	EACH	45.0000	45.00	E
All Prices Are N	et, Payable 30 Days Fo	ollowing Subt	otal:	2962.00	
Date of Invoice.	1 1/2% Charged Theres	after. Tax.	:	0.00	
If Account CURRE	NT take Discount of \$_	<u>296.20</u> Paym	ents:	0.00	
ONLY if paid wit	hin 30 days from Invo	ice Date Tota	.1:	2962.00	



## LIECCEMENTING C., INC.

08860

J P.O. B RUSS	OX 31 ELL, KANSAS 676	665	ORIGINAL SERVICE POINT: Medicine Lodge				
DATE 11-6-01	SEC. TWP.	RANGE 17W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	
LEASE Keller			,		COUNTY	<u>M S:30 A</u>   state   KS	
OLD OR NEW (Cir	WELL# A-2	LOCATION Bren	1/ 1/	for	Kiowa	KS	
		1/w, 12 Ny 2	Q.E, 195	4			
CONTRACTOR 7	Pickrell #10		OWNER ///	C Ginness	s Dil Co		
TYPE OF JOB SC	orface				3		
HOLE SIZE 12	<u>/4</u> T.I		CEMENT				
CASING SIZE 8		<u>ртн 420'</u>	. AMOUNT ORI	DERED			
TUBING SIZE DRILL PIPE		PTH		5:35: <u>8</u> +3		70-seal	
TOOL		PTH PTH	100 Sx C/	ASS X1+ 37	cc + 2% ge		
PRES. MAX 2	^ -	NIMUM —	. COMMON A	100	@_6.65	665.00	
MEAS. LINE	SH	OE JOINT	POZMIX		@_ <del></del>		
CEMENT LEFT IN	CSG. 5'		GEL	2	@ 10.00	20.00	
PERFS.	0.31.3/1		CHLORIDE	_8	@ 30.00	240.00	
DISPLACEMENT	25 3/4 Bb/s	Freshwater	ALW	125	_ @ <u>6.30</u>	187.50	
	EQUIPMENT		FCO-SEAL	31#	_@ <i>_1-40_</i> _	43.40	
The state of the s					@		
	CEMENTER Zar			W. W. L	@ 		
	HELPER Mik	e Rucker	HANDLING 2	41	@ 1.10	265.10	
BULK TRUCK # <i>2</i> 59-352 I	DRIVER Walt	1/	MILEAGE			241.00	
BULK TRUCK	DRIVER Walt	er Harmon					
	DRIVER				TOTAL	2262,00	
	REMARKS:			SERVI	ICE		
POB Bro			DEPTH OF JOE				
125	SX Alu)	huater	PUMP TRUCK	CHARGE		520.00	
100	5X A 3+2	)	EXTRA FOOTA MILEAGE	25	_@ <i>So_</i>	<u>60.00</u>	
Rel	ease plug		PLUG WOO		@_ <i>3.00</i> _ ?*@_45_00	45 N	
Dis	place 125 9	4 Bols			@		
<u> </u>	utin, co	ment to surface			@		
				CEIVED			
0/	) (		KANSAS CORPO	DRATION COMMIS	SION TOTAL	700.00	
CHARGE TO:							
STREET ISON.	MAIN, S	vsas <sub>ZIP</sub> 67202	JAN	FLOAT EQU	UPMENT		
CITY LECHIT	STATE KAI	VSAS ZIP 67202	CONSERV	ATION DIVISION	ON		
			ر میشد پر انهر	, de un rest			
			1		@	1	
					@		
To Allied Cementi					_ @		
You are hereby rec	quested to rent cen	nenting equipment					
and furnish cemen	ter and helper to a	ssist owner or			TOTAL		
contractor to do we							
done to satisfaction	n and supervision	of owner agent or I the "TERMS AND	TAX	F _ 9			
CONDITIONS" lis			TOTAL CHARG	E 29	62.00		
	sica on the leverse	siue.		706	ファ		
	1		DISCOUNT	71.0	if PAIL	IN 30 DAYS	
SIGNATURE /	mit -	1	1	-10657	00		
DIGNATURE	104/1	ern		Kek	ern		
		*. •		PRINTI	ED NAME	-	